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HO¥D( VOB TEIMAEEIE( kgD THRLILLD,
® 3t = @ 49t
@ 992t = 741
® 5t = @ 35+t
@ 500t = 304t
® 30t = @ 700t
® 80t = ® 70t
HO¥D( kgD TEHNINLEIE( ItORTERLELLD,
® 17000kg = 90000kg
@ 92000kg = @ 40000kg
® 6000kg = @ 600000kg
|05000kg = @ 63000kg
@ 50000kg = @ 58000kg
641000kg = @ 900000kg
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HOX¥D( MOWMTEINLETE( )kgOBTELILL,

0] 3t 3000kg @ 491 = 49000kg
@ 992t 992000kg 74t = 74000kg
© 5t 5000kg @ 35t = 35000kg
@ 500t 500000kg 304t = 304000kg
® 30t 30000kg @) 700t = 700000kg
©® 80t 80000kg ® 70t = 70000kg
BO¥D( )kgOBTEINALEIE( OB THRLILL,

® 7000kg 7t 90000kg = g0t
@ 92000kg q2t @ 40000kg = 40t
® 6000kg 6t @ 600000kg = 600t

| 05000kg |05t @ 63000kg = 63t
@ 50000kg 50t @ 58000kg = 58t
641000kg 6411t @ 900000kg = 900t




